INATy AR — b B

1 7 B 6H10H (+) 9:30 Btttk 8:3001%
6H11H(H) 9:15 BBt 8:158H%
6H120 (H) 10:00  BEiHiBHAA 9:008H%%

2 = RESLEE BA+ (A, B, Ca—h)
TR FH AR B A BF 2+ (Da—h)

3 HAEHE ABEXILEE(A-B-C) TREFFERABED)---1HEDH

(FPiEF—T ANEF)

BF i B hE B
106) 32 49|63 68| 50 42|77
=A = B mA
11H
108 104]27 89| 30 6549 64] 43 64| 52 41|38 45|29 22|70
5A 5B 3A 3D 5C 5D 3B 3C
1 2 3 4 5 6 7 8 9 10 "M 12 13 14 15 16
B B ® X B 5 ® X H g £ Ww 2 & F H
F @M & & X H B 53 t & = < H#H H



(FE—FTAUMKF)

K& K S5 =R
95|34 40| 87 73|37 58|120
—A —B -B —A
11H
108 97|26 50|37 81| 35 15114 108 20 22| 52 115] 25 31|100
2D 2A 4A 4B 4D 4C 2B 2C
71|28
(ﬁw

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

% B & ® K $ ¥ L X A gE # K WM B & &

F 7K = 53 H H# pic £ ¥ pe it 58] 2] 3 R s)

RV — 7 B4o) 6 H10H (1) HAETTEKR
6H11H (H) 1ABCD 9:30~
Ve A=— | B=—h 2ABCD 10:45~
%ﬂ%ﬁ/ﬁ\ ﬁ‘ (8)7 AVAN) /]/ (b)? VS hn i 3ABCD 12:00~
BINEE L @A-—-—»H VS (B)-9 VS =z 4ABCD 13:15~
5ABCD 14:30~

6 H120 (H)

IR 3 A= = b B = — b 6A11H (H) ATEMm
10:00~ |&| @OBEVS®OOKE |@OKAVS b) OBE AR 9 15~
11:20~ |HB| (ADKEEVS(B)DKE (A) DBV S (B) Ds# —AB 10:30~
12:40~ |& (a) DAV S (b) DA (a) DIEFEV S (b) DI =~ AB 11:45~
14:00~ |5B]| (A)DOKBEVS(B)OKE (A) DIFEV S (B) DI M AB 13:00~

Ma=TxF—AF1, 2RESBIEXEMPA,. 3. 4RSS BIXAHNA HAB (ZLFIREY —2)

RUFITEE LD A T 4 ¥ ¥ VD> T, 14:15~

SNAB (BB —2)
15:30~
XA ERT10721RIC

5 ReHfLEbEHHE
(1)
(2)

A A S 2 MR — i S HR AN K0T,
/\\‘\‘/ﬁ:&i;ﬁﬂﬁ/ﬁ\bﬁ%%‘é%ﬁ§j‘7/{f/,\7/l/a:l—p'ﬂ75)0 VCE’LEJJ&L,‘ :L:7j—\-—-l>\g~i Eék\j—éo

7770 YEP s D =T — A OW T T By,
BV WBBE—T 13D LN T — 2% EALET D, 3T —LNRRCEE L, ZDOT — A OB S ZETHIRE R ET D,
Fo, SHIZFECEG AR, B CORBKRCIAN 2 E T 5,
(4) BEBE R TF —LIN2TF — AE o T- AT, Stk E %2 BArE9 5,
(5) BA I EHIZ EAL3TF — LB R R SR E RS ICHE 5, (EttfRTiBAfE)

)
)
(6)
)

B H AR K THRREEZIT),
() HEITEARRC, AT —2DOFT7 4%V T,

ROFAEGEFRIIRT Do



